[image: ]
	6	RDMOTO CZECH REPUBLIC
		info@rdmoto.cz
		www.rdmoto.cz


[bookmark: _GoBack]K39
Kawasaki Versys 650 2014-

Kit for the left side:				kit for the right side:
	ID.
	Description
	Cat.n.
	pcs

	1
	Steel adapter
	X1
	1

	2
	Dural. adapter d=15mm
	DV9
	1

	3
	Nut M10
	X11
	1

	4
	M10x525x1,25x30x30
	-
	1


	ID.
	Description
	Kat.č.
	pcs

	1
	Steel adapter
	X1
	1

	2
	Dural. adapter d=40mm
	DV4
	1

	3
	Dural. adapter d=20mm
	DV10
	1

	4
	Nut M10
	X11
	1



Montážní postup:

1. Remove the engine mounting bolts.
2. Put connection rod M10 through frame.
3. Put steel adapters ID.1. into protectors
4. Left side: Place dural adapter ID.2 and dural reduction ID.3 under protector.
5. After that place protector and screw M10.
6. Right side: Push screw-thread through protector. Place dural reduction ID.2 under protector. Put the nut M10.
7. Tighten the nuts.

Warning – use the glue of all threads. Medium strong.
[image: C:\Users\Martin\Desktop\Stažené dokumenty\Kawasaki Versys 650_´15\800x600\DSCN3811.JPG][image: C:\Users\Martin\Desktop\Stažené dokumenty\Kawasaki Versys 650_´15\800x600\DSCN3814.JPG]







[image: C:\Users\Martin\Desktop\Stažené dokumenty\Kawasaki Versys 650_´15\800x600\DSCN3817.JPG][image: C:\Users\Martin\Desktop\Stažené dokumenty\Kawasaki Versys 650_´15\800x600\DSCN3813.JPG]
1
image2.jpeg




image3.jpeg




image4.jpeg




image1.jpeg




image5.png




